
1

 
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 الفصل الخامس:الأرقام القياسية
 



                

 

 

      



 

 

. 

 

1          

 

 

P1P0 

 X100   IP1/0 =  
૚ࡼ
૙ࡼ

 

 

q1q0 

 X100   Iq1/0 =  
૚ࢗ
૙ࢗ

 

 

P1q1V1=P0q0V0= 

 X100   Iv1/0 =  
૚ࢂ
૙ࢂ

 



1

 
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    1000  2018     2010700

20101001202018

2010 

2 



        

 

  

૙࢏ࡼ∑૚࢏ࡼ∑	 = ૚/૙ࡼࡵ∑
  ૚૙૙ࢄ

  

૙࢏ࢗ∑૚࢏ࢗ∑	 = ૚/૙ࢗࡵ∑
  ૚૙૙ࢄ

  

૙࢏ࢂ∑૚࢏ࢂ∑	 = ૚/૙ࢂࡵ∑
  ૚૙૙ࢄ

20102015 

 1 5 3  

2010 40 300 5 5 

2015 60 400 10 8 

2010 

૛૙૚૞/૛૙૚૙ =ૡା૚૙ା૝૙૙ା૟૙૙ࡼࡵ∑
૞ା૞ା૜૙૙ା૝૙

 x100= ૝ૠૡ
૜૞૙

x100=136% 

201536

2010 

 

  

 

 

 

 



1

 
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 

 

3 

 

 indice de laspeyers 

1844 

  

  X100L P1/0 = 
૙࢏ࢗ	૚࢏ࡼ∑
૙࢏ࢗ૙࢏ࡼ∑

 

  

  X100L q1/0 = 
૙࢏ࡼ	૚࢏ࢗ∑
૙࢏ࡼ૙࢏ࢗ∑

 

 indice de pache 

 

  

X100 P p 1/0 = 
૚࢏ࢗ	૚࢏ࡼ∑
૚࢏ࢗ૙࢏ࡼ∑

 

  

  X100P q1/0 = 
૚࢏ࡼ	૚࢏ࢗ∑
૚࢏ࡼ૙࢏ࢗ∑

 

 

 P0 P1 q0 q1 

1 40 60 20 18 

5 300 400 12 10 

13 5 10 25 20 

 5 8 15 17 

  



1

 
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

 

 fisher 





 

F1/0 =ඥࡸ૚/૙ࡼ૚/૙ 

  

Fp1/0 =ඥ࢖ࡸ૚/૙࢖ࡼ૚/૙ 

   

Fq1/0 =ඥࢗࡸ૚/૙ࢗࡼ૚/૙ 

 marshal 

 

1  

 X 100 =
(૙࢏ࢗ૚ା࢏ࢗ)૚࢏࢖∑
(૙࢏ࢗ૚ା࢏ࢗ)૙࢏࢖∑

  MXP1/0 

2  

  X100 MGP1/0 =  
૙࢏ࢗ.૚࢏ࢗ૚ඥ࢏࢖∑
 ૙࢏ࢗ.૚࢏ࢗ૙ඥ࢏࢖∑

3  

X 100 =
(૙࢏࢖૚ା࢏࢖)૚࢏ࢗ∑
(૙࢏࢖૚ା࢏࢖)૙࢏ࢗ∑

  MXq1/0 

4  

X100  MGq1/0 =  
૙࢏࢖.૚࢏࢖૚ඥ࢏ࢗ∑
૙࢏࢖.૚࢏࢖૙ඥ࢏ࢗ∑

 

 


